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RMM0Y 565¢r0BOo

093900 BIM0Y 3oOJbo:

F(w) = Tf (t) exp(it)dt

f (1) = = [ F () expliat)do
2 *,
ft) —Ggoen®o;
F(w) — 3003¢gdlimeo;

30D03MM0 316d300L G0 Lsbols LodgEMoo: F*(-0) = F(w)

RO 23M5gdbol mz30Lgdgdo

193963 BOGOo: fl (t) + f2 (t) —> Fl (0)) + F2 (a))

wbgownger | Fi(2) f,(t—7)dz - F(0)F,(0)
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1958030 05390963050 836EME9doL Moy $BsEoBo
5659633503560 0. 2obEHMEgds:
2
f f
CRICI 0
dt

rl (1) =g(t)

5309 Lsby:
— 0’ F (o) +iaoF (o) + of F () = G(w)

5Q29060w0 2356EMgds () ImbgMbs 0bEJaMowols 5©gds):
G(w) = j g(t) exp(iet)dt

= N ®ogob 9600835003560 ©0%. 3569201985 J-9008030 329%03090(99000:

d"f (1) d™f (1) df (t)

a +a +...
"dt" dt™? 4

+a,f(t)=0

9371609 3580l 899099 3033000 J96EHMEgd0L b3gdGOU:
a (Hiw)"+a (o) +..—aiw+a,=0

53MbsblboL seygbs:
F(t) = [ F(e)exp(-iatyt
2 7
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= N ®ogob 9608350023560 ©0%. 35690207985 330750 3029%03096998000:

a w+an_lm+ aw+ao(t)f(t):0, a,(t)=at

n d tn dtn_l ven dt

. dF(w)

(§O80350) 33200 398030g6GOL FNMOg FoBws: of (t) >l “deo
dF (o)

0

la, (Hiw)" +a, , (-ie) ™ +...+a, F(0) +ia

N (00l ©0g3. 256@Mmq0s 25053h9M 900 3060390 MHOFOL OG. JobEMEGdS.
59mbobLBOL s0y9bs (906Mbgdmwo BMMOYg 450M©oddbs):

F(t) = %fF () exp(—it)dt
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9mbo399900L ©53w9853905: 30emdgMEOL 25MEogdbol Bgommom

1

Bogbswo (39dEHm®o): S(t)

0gf

06|

e ML MEOMOL Loabseols Iyolio H83eOE¥S O BoBs? oef
e 10b5Eol Go Bofforos 3s6HIMbomwo/3gMompmwro, o2
Qo5 65 boflools s39m0mmeEo? ’

02}
04}

» 00865000l 36259506980b/3302¢(H6s300L dgormgdo s}

08k

-1

(8‘36518()0[) 30@686601) 63(235&)0’)(\'1865; 0 zln a'n EID BID m'n 150 1xlin 1én 1én 200
D(t) = S(t) +1S,, (1)

LG 736300V 5b5WOBMMO FOTBIMOMYGdS M 39FI0s 30WdIOHEOL 4oMJIb00D:

1
3Mb3menv300: S(t), E

gmeog bsby: Sy (@) = —Is(®@) sgn( @)

3500b0vemo 3d3mbgbEH oL g3sBol Foboggergds 7/ 2-0m.
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9ogO0MO:
S(t) = Acos(at) ,
S, (t) = iAsin(at)
00 Bogbserol BoBs s 53E0EW:

D(t) = S(t) +iS,, (t) = A(t)e'""

At) =/S(t) + S2 (1)

93716009 356M5JIBom 39JBHMMOL 30¢dIOEHOL oMogdbols godmmgzgeols 3emEgwyes (w>0):

1. S(t) = s(w)
o Im[s(w)] <> Re[s(w)] .  s(w)—>s, ()
3. Sy (@) > S, (1)

Matlab

D = hilbert (S);
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©535¢090s 10.1.
Qo9530620L MbEOESEGMOO:!

X () + 0.05 X (t) + x(t) + x(1)3= 0

03m39m: X(t) s MHg30L BHM9dEH™Oo0L Imdzwqd0 (533co@ws) A(t).

©535¢00ds 10.2.
396 096 3meob 2obEMmgds:

X (t) — (1-x?) X' (t) + x(t) =0

03m39m: X(t) s MHg30L BHM9dGH™O00l Imdzqdo (533co@ws) A(t).

@obs Bgoo 58265bL60L 55 B9H0 32 HOYHO (X, X');

x(t), A(t)

do/dt
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OL3MIAIWO BHOM0Y J9Mgo]dbs
a3cog dH36030:

N
X () = D x( o 2
j=1

N
() = > X (K
N &

a)NEe N<OO

399d™6Mo: x(1), x(2), ..., x(N)
7m0 Laby: X(1), X(2), ..., X(N)

fftshift (0-2pi) -> (-pi,+pi)

L3ObIOEH™O OLIOYEWIO Q5TWS: ft

LHMOR0 B0y o0y (fast Fourier transform): £ft / ifft  (N=27, dop: 512, 1024, ...)
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Matlab _
EIEi\l‘\Ew Insert Tools Desktop Window Help ;IEI%I:
t0 = 0; iDﬁﬂé\h|@@W@|‘E‘|DE|E@
tfin = 100; i 160
dt = O.l,‘ | 140}
120+
t = (tO:dt:tfin); 100 -
T = tfin—tO; a0
N = length(t); B0}
40
f = sin(2*pi*t) + 0.1l*rand(1l,N); I ]
G = fft(f); | o] — SO S
QDD 10 20 30 40 a0 EID 70 30 90 100
plot (t, real (G));

=10l x|

© File Edit View Insert Tools Desktop Window Help

el haans € 0850

969600 B3gdEBH Moo Lod3zMogzg

250
GG = fftshift(G); o}
Eomega = abs (GG) ."2; 150}
plot (Eomega) ; 1o}

sl

0 200 400 600 800 1000 1200
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Lobdotggdo: —
PSR I
File Edit “iew Insett Tools Deskkop Window Help £
Aw 27 s IR E T EE =
Winar — At
= b 240
A 2m
Wmin = 7 I
T 200

180

w= { - a‘ﬁ"-ﬂ'—"ma.r

,."'Iz ! Apin | Aldmax /2 )

!

100

omega = (-pi/dt : 2*pi/T : pi/dt ); o
plot (omega, Eomega) ;

0d958mfjagon:
Matlab g3bg0900:

fft
fftshift
1fft
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©535¢090s 10.3.

B59@ 9690 3DoL odgdols ®oEbzol L3gdE Moo sbseroBo Mo (Matlab sunspot dmbs393900):
load sunspot.dat

year=sunspot (:,1);

wolf=sunspot (:,2);

03390 3BoL ¢ogqdol 35005300l 39MH0M©Yd0;

©535¢0905 10.4.
Bos@otgo Matlab chirp dmbs3999d0L L3gdEH© oo sbserobo:
x = chirp(t,0,1,Fs/0);

Q535¢09ds 10.5.
Bso@otmgom dm3938vIemo gbdi0ol L3dgd@EMmoemo sbsgrobo:

f{t) =sin(t) exp( 0.2 t) + cos(3t) exp(-0.1t) + 0.2 rand

1. Plot E(omega) vs. omega
2. Plot Re(F) wvs. Im(F)
3. Gl (omega) = F(omega) + random (physical) noise in phase;
4. G2 (omega) = F(omega) + random (physical) noise in amplitude;
5. plot on single graph: f£(t), fl1(t), £2(t)
Random noise: Max amplitude = 0.2*Max (F);
F = A*exp(i*phi) : A - Amplitude; phi - phase;
fl = ifft G1
f2 = ifft G2
6. subplot(2,2,1); plot £’ (t) vs f(t)
7. subplot(2,2,2); plot f£f1’' vs f1l
8. subplot(2,2,3); plot f2’ vs f2
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Qb 0: 565¢0DM®HO BMbJ300L BMMOg 4oM©Jdbgdol sbHoro

B0bdgoo

3003300 B06O09 LobY
e
f(z) 1 e
E./_mf(x)f_tm dx
1 Vo - §(w)
1
6(x) on
e V27 - §(w — a)
cos(az) o d(w —a) —;—5(&:4—&
1 s
cos(ax”) NGT COS (4& 1
" " 2™ (w)

3609 Lobg
1 o
- —zﬁsgn(w)
e —2 sin(ma/2)(a + 1)
N
sgn(z) %i
o | o)
ﬂ:iim d(x —nT) %;:j (w — ?)
log 2] _\/ﬁ 2 Ve ()
. V2 a1
(Fix) r (Q)u(:l:u.) (dw)
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39039 (wavelet) 56059065

3)M09 39M5Jdbs 5839690l Logbsgrols L3gdEHML (LOBOMYgOL), Bog™ed 565 0TSl PMHMOL M) Mo 8mb33900d0 BBL
9L bobdoMy.

% %Il
iy 5
S [
Time - Frequency )
Short time Fourier analysis (Gabor)
A window - T
é f I.-" %
= f r %
z / VAR':
Time " Time ]
3003w d0:
!
it
M
MUJ
Wavelet (db10)

Sine Wave
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I{ ﬁl Wavelet
N LB AP W
” '*'Nl“

A
v I'IH j Transform YR,
J ! —\\r—
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%9300 39039 390©sgdbs (WT)

scale 3903gGob doBIEHd0
position 390390 3mboEos

C(scale, pos) = _[ f (t)W(scale, pos,t)dt

v (I - E’)f(:c)da-:

i

Wy f] (a,b) =

Tl

dolIBod0:

ﬂﬁn—lf‘":\jf\/; ﬂf) = l|l(l‘) oa =1

_ﬂ“' I I I I I I
o M 4 B BRI LIRS B0 (e TERE )

M

°fd\/\}_ fity =w(2t) : a= %
ol 1
~>~J\,~— A = 2 oa =3

0 " "
0O 4 W B I LR D T X

3mbBoEos:

Y Al
v P

Wavelet function Shifted wavelet function

V(1) y(t—k)

Scale

2550 4000 4050 4100 4150 4200 4250

Time
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Daubechies wavelets (dbN)

‘Werveded bnchon pa vl bnctin i

Symlets

n
18 )

i ﬁ UE‘/\[\'I 1 ﬂ

as p 0E

A
a5 1 08

T8 B 1o o o o
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Wavelet 353500000
load noissin;
figure (1) ;
plot (noissin) ;
c = cwt(noissin,1:48, 'db4") ;
figure (2);
mesh (c) ;
view (0, 90) ;
15 . : : - - - - ' ;
1 | ‘ k d ‘ | ] s
05 7 %
of | | | 1 )
05} ‘ ‘ .
1
‘ ‘ \ “ !
| |
+ !\lii *\ | ltu *
I 'l’ \ ‘ i]| "lf“”)
B0 i 20 %D 00 500 B0 0 500 ap i

D lm m Iﬂ KIJ ﬂl} 81) !m !(llJ
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Matlab: wscalogram

Fs = 1000;
fc = centfrg('cmorl-1");
% a = fc/ (freg*dt)

fregrange = [20 150];

scalerange = fc./ (freqrange* (1/Fs));

t = linspace(0,5,5e3);

X = cos (2*pi*100*t) .* (t<1l) +tcos (2*pi*50*t) .* (3<t)+0.3*randn (size(t));

C=cwt (x',1:200, 'db4") ;
mesh (C) ;
view (0, 90) ;
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scales = scalerange(end) :0.2:scalerange(l);
Coeffs = cwt (x,scales, 'cmorl-1");
SCImg = wscalogram('image',Coeffs, 'scales',scales, 'ydata',x, "'xdata',t);

Analyzed Signal

Scalogram
Percentage of energy for each wavelet coefficient w10

Scales a

ME (b e

B.66667
0

25
Time {or Space) b
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load sunspot.dat
year=sunspot (:,1);
wolf=sunspot(:,2);

SCALES=50;
c = cwt (wolf,1:SCALES, 'db4d");
surf (c) ;

view (0, 90);
shading interp;
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